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ZH: (5000) XI R LOIEFE 2:(5100) Kl TH & & & (5110) X xH &f & Mg (5111) XX & & NIAIEE: (310) X &4 & [t 22X ] [Sel H ]

2 = S IS R == S )
of Ao A 2 ol =
.28 MEL MM = of & M| = oA
5000
A2 IEFE I 1,283,824 1,248,221 35,603
5100
X2 XH & st 1,245,000 1,245,000 0
5110
K& XH &2 1,245,000 1,245,000 0
5111
K2 XH &2 1,245,000 1,245,000 0
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R &t 1,245,000 1,245,000 0
310
X2 TH A 8 1,245,000 1,245,000 0
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Xt S0kt 295,000 295,000 0
295,000 295,000 004 ZYHLXAZ A 2H0IX
o QM C 22 X e = 295,000
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0 M=1Rs] 38,824 3,221 35,603
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HylblS 38,824 3,221 35,603
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0: [i=Ns] 38,824 3,221 35,603
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ol 51 Bl 38,824 3,221 35,603 < 0l 5l = 38,824
N = & H 1,900,000 1,700,000 200,000
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